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L Scott’s Thoughts (continued)

increased demand for oil pushes oil prices higher. However, stock indexes are saying things are good while bonds, oil,
and the banking industry are saying that the economy is not that good at all, even suggesting a recession is on the hori-
zon. One of the two markets will be right, the other wrong. But as John Maynard Keynes said, “the market can stay
irrational longer than you can stay solvent”. Typically this is how one describes a bear market such as the 1970’s, but
irrational exuberance is a term we have witnessed a number of times in the past.

| do hope that the new administration’s economic agenda becomes reality. But the expectations of late last year are
not coming to fruition as of now. Cutting corporate tax rates would certainly grow earnings and lessen the extreme val-
uations inherent in the today’s stock markets. The high cost of health care must be dealt with as it is a substantial
drain on the economy. Ridding ourselves of excessive regulations would help, and some improvement has occurred
there. But the politics of the day are making positive economic changes difficult to accomplish and thus challenging
today’s excessive stock valuations.

A final two thoughts: (1) the stock market is expensive, but has not flared yet. It is very common for a bull market to
end when the most expensive of the stocks simply take off to even higher levels (like in the year 1999). It is much less
common for a bull market to just roll over and gradually begin to decline across all sectors. So | am still looking for the
“flair” and hopeful that favorable economic policies are adopted by the powers that be. And (2) interest rates have not
gone higher and there is much talk that the primary reason the Fed is raising short term rates is not because the econ-
omy is so strong (it is not), but instead because they need room to lower them if a recession does occur.

Today | will continue to own shorter term bonds and short term CDs. We are being paid about 1.55% for 18 month pa-
per which is only %2% less yield than the 10 year treasury. Over a 5 year period,

the ten year bond holder has received 2.5% more income than the CD holder.

Over a 10 year period, the owner of the ten year bond will have received 5% more
income than the CD holder. When rates return to normal, the 10 year bond will
lose about 25% while the CD holder will essentially lose nothing. You can run the
math on out in time and see that owning the CD is a much better plan if anytime
in the next generation interest rates return to their 100 year norm. This is a bet |
like; give up ¥2% a year in income and save 25% on my principal. And yes, | do
believe that markets ALWAYS return to their norm.

Regarding stocks, | am lightening my exposure to the most expensive of the
bunch (like moving to an equally weighted S&P and away from the cap weighted
index*) and adding some to the sectors that are not expensive (which means
companies that have underperformed the broad market).

Importantly, | have no intentions of buying another trailer. Utilizing industry jar-
gon, | was long long trailers, | am currently flat long trailers and considering going
short long trailers.

*A 0cap6 weighted index places mor
more those stocks rise, the more money they receive. Thus, a $1,000 invesigy
in the current S&P500 would buy $39 in Apple, $19 in Amazon, $17 in Fac

book, $28 in Google with the 508 company getting only $.07 of your $1,000 "
An equally weighted S&P500 fund would simply place $2.00 in each of the 5000live Sez...summer daze...
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